CHAPTER 4. INTEGRALS

109

4.8 Definite and Indefinite Integrals

FIND THE FOLLOWING INDEFINITE INTEGRALS.
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FIND EXACT VALUES FOR THE FOLLOWING DEFINITE INTEGRALS.
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GIVEN INTERVAL.

No one really understood music unless he was a scientist, her father had declared, and not just any scientist,
either, oh, no, only the real ones, the theoreticians, whose language is mathematics. She had not understood
mathematics until he had explained to her that it was the symbolic language of relationships. “And relationships,”
he had told her, “contained the essential meaning of life.” —Pearl S. Buck, The Goddess Abides, Part 1
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4.9 Integrals Involving Logarithms and Exponentials

FIND THE FOLLOWING INDEFINITE INTEGRALS.
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FIND EXACT VALUES FOR EACH OF THE FOLLOWING DEFINITE INTEGRALS.
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